












This should be 4/36 instead of 3/36.

Notice that there are 4 ways in which i cand 
get 9, namely:

4 (on red) and 5 (on blue)
5 (on red) and 4 (on blue)
6 (on red) and 3 (on blue)
3 (on red) and 6 (on blue)







Math 10120 Spring 2014, Practice Exa,m 2 Initials:-

15. (10 pts.) A child has 6 cards numbered {2,3,4,5,6,7}. The child places three cards in a row to
create a &digits number.
(a) What is the probability that the number selected is 374?
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(b) What is the probability that the mrmber selected is smaller than 500?
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(c) What is the probability that the number selected is bigger than 550?
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1.(10pts) A mathematics quiz consists of 5 questions. There are 75 students in the class.
Below is a frequency table showing how the class did.

Question # correct answers

1 36
2 41
3 22
4 54
5 30

If I select 25 students at random from the class approximately how many got problem 3
correct?



2.(6pts) Here are the results of a survey done every 5 years of per capita income.

Which of the following statements can deduced from the information given in the his-
togram?

(a) In 2009 at least one person had an income of at least 40.

(b) At least one person’s income rose steadily from 1986 to 2009.

(c) No one in 1996 made 40.

(d) The number of people making 40 in 2009 is greater than the number of people
making 30 a year in 1999



3.(10pts) Make a stem-and-leaf plot for the given scores.

31, 22, 40, 24, 41, 33, 26, 35, 36, 49, 28, 25, 32, 42, 37, 47, 20, 38, 44, 37, 21, 41



1. Solution.

22 · 25
75

=
22

3
. If it were multiple choice I’d pick either 7 or 8.

2. Solution. If everyone in 2009 made less than 40 a year the per capita income could not
be 40.

3. Solution.

Stem Leaves

2 0 1 2 4 5 6 8
3 1 2 3 5 6 7 7 8
4 0 1 1 2 4 4 7 9


